
code blocks
· org

# include [stdio
. h) Standard input/output header file ming

int main

E
Datai numl , nume variables

int

Type int sun ; -> float
printf("Enter first numberin") ;5 double
scan f ("Yd

,
8 num1); &dis11+: chor[↑rintf("Enter second numberin") ; %i

Sam = num 1 + num2 ;
-> AssignmentStatement

I
scanf ("Yd

,
8 num2);

printf ("sum-%d , sum) ;
return O

; Y

Y

% d - decimal 8 - joig

55.

Enter&.

3

↳Printf "Enter any two numbers In") ;

scont ("godood" , &nu1
,

J num 2) ;

or
numbersanytwo

>Ster screS,D15
j G

Comments :

(*-
-

*/-

inc+ + 11-
I -
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data types :

int printf god scanf God

float printdof ~ off

double print of Scant % If

char printf % c scanf % S

# include [stalio. 47
int main (1

E
int age ;
har gender :
Printf /"Enter age and genderin") ;

↑

* caut/
"
%d % &" 3 Sage ,

8 gender) ,

Printf ("age= God gender =% <" , age , gender ;
return o ;

Y

screen :

Enter age and gender
20 I
age = 20 gender - (chars spacesis

·s 1s is-
Scant("God % :" , suge ; 8 gender);
=

M
y space in

- 1space char⑮ scanfis&

"Godgdoty%c %od"
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Arithmetic Operation :

F X = y + 2j

- x = y -3j

* a = b *cj

% 1 - b = 5/2 = 2 1 integer)
·
·, % - b = 502 = 1 (integer 1 % 1 r
g 3 % 7 = 3

5+ 2 * 7/3 - 2 & Judg &
· Is ,isgi

# include catdio
- n >

int main()

E

intnumesstenhunderer
Scant (1%d"

,
8 num) ;

ones = num% 10 ;

hunds = num/100;
tens = num/10%to ; Il ten numpol/10 ;
rev= ones

* 100 A tens
*

10 + hund ;
Printf(" reverse ofGod=od " num

,
revls

return o ;

Y
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Eis.
#include[staio

.
n>

# defineis 3 . 17 > - PI is

int main 1)

E
-j int rad ;

Areas -> float area , circum ;851s
Iss Printf ("Enter radius (ull) ;

scant (" %"
, 8 rad);

area = ↑F *red
*

rad;

circum = 2 * PI* rad ;

Printf ("Area =% f Injarea(s
-
print) "Area =%f In circum-oof"

&

Printf (" circum=%f"
, circums]

return of

y &

94566sowis
,

·
:

61
Aren = 27

. 500000 : "T=%

Type Casting

float X ;

Ent y ;

y = 10/3 ; -3

x = 10/3-3 .0(801555)

y =
10 . 013 : - 3 · d

X = 10
.
013 -> 3.3
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intx = 5

float # = 7. 8
,

% = 1 ;
-

into res;

float free ;

res = X/y; -> 2

·T. 22.5
>= X/(float)Ys

:
a

= (float)x/ floaty ->

res = b % X ;

↑
error

Lintb

- float is intgo
S

jis
X = b ; X
X = Fint)6 : -
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Error Types:

& syntax errors + warnings

& Run Time (linkers errors (fatel)
↳ logical errors : sun-num1*num2

FormattingOutput :

inti

X = 5237
, y =2

-
z = 12395;

Print (17d God God"
>

x
> y + 2) ;

5237212345

10093 E 27 125 es3455

E 26746230123456
&_is s

us

6

=> Trintf ("%10d % 7d %6d"sx
, yst);

- - - - -

-137
-- -

- - - zz -

1 221

spase, s

·editsin ,s es
Ez . 37 -------

&

8 8844.99. %!3

char : char b=Als

&rint(goodX
x = - 52376

- 5247 Spase
------ -
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float A = 25 . 2764
- y

=
- 3 . 245

,
z = 2 ;

Printf (" % -10
.35% 7 .

26 % 6
. If"s X y , 2) ;

&
·:3g

25 . 276

It -

- 2 = 211- -088
----------

"O 0.
37" - widtho

& "49523 ,5.

int X = - 3275;

Char y=B S
float - 2 = -627. 37496 ;

Printf (1% -10 .

- % 32 % ad" > 2,yx) =

B=== 3758--------
= 25

a==
D = 1 %

!

I
jey&

k = 1
.

0 print ("this % %o ")
m = 1 . 5

Text Files :

# include Cstdio
. US

intmain()

in- data
.

ext

& 56

int naus
, num2 ,

sum :
pointer

VisiFILE # in ; FILE&
,

in T
&59

.

in = topen ("date .
x+e

mode

S rg
fscant (in ,"Godd" 8 numb

,
Snum2) "

Sum : num1 - houst ;

Print ("sum-%d" , suml ;
-close (in) ;

·Greturn o;

int Y
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# include Lidio . US
main()

&
int naus

, num2 , sum :
pointer

FILE *in ,out ;&59
.

in = topen ("datext" ,
"r"7; edE

S

out= togenic result. &iw") ;
&

-
1

Ascant (In ,
%odyd

,
8 num1

=
Snum2)

,

Sum : num1 - houst ;

#utf("sum- %dam);
& fprint (out,

"

same %od" sum) ;
-

↓ close,
- Alls'sy
return o; mi
Y

Function :

system defined functions :

* includemath .
17 Z

* z =xyz
doublespow (double doublaX

sqrt(* ) ;
T I

abs (* 1 ; it's y

fabs (-1 = ess 2 <grt (pow (x2 + pow(y ,2)
ceil 1-1 : 915. 11 . 1-2

#X y * y
/

int 93.Hour():i (1 . 29/
->3.

14

sinc radian
ceil (-1 .

4); -> +
cos(-) ; flour (-1 . 4) ; -> -2

fan 1 +; -
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user defined function :

# include Idio . h)

int sum (int , intl ; -> function prototype
8.
15.%9 ,

int main (1

&
int neut

,
nume , si

printf !"Enter two numbers in") ;

scont ("%d%d
,
8 numb

,
6 nunt")

,

= Sum(num1, num1) ; -> function call
printf ("sum = %od"s) ;

return o;

Y

int sum (intx ,
int nume)

[
int results ->

function definition
result = X + num2 ;

return result

Y code reds

sum output
Enter two numbersin5 3
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# include <atdio . n)
void sum (intnint)'s 8. 5

.

%,S
int main ((

&
intnum1 ,

yuurt , 3 ;

print ("Enter two numbers full);
xnut ("Ydgd"8 numb , Sname) ;
sem (num1 , numb ;

return O ;

z

Void sum Linx
,
out numel ;

&
int result;
result = X + Munz ;

print ("sum-god" , result)

# include[stdio . h >

int sum () g Eas 06.
int main ((

&
int ;

Sumaim =%",
retur of

z
intsum () ;

&
in nums

,
num

,
>;

grint" enter two numbersin");
scant"%od Yod" Suum1

,
8 num 2) ;

= numb + nume;

return Si
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# include <atdio . n)
void sum (1) ; 8.3.

%59
.

0

int main ((

&
sum ();
return of

Y

void sum ()
&
in nums

,
num

,
>;

grint" enter two numbersin");
scant"%od Yod" Suum1

,
8 num 2) ;

= numb + nume;

print ("sem =%d" >
3) :

Y
main, sum output
&

Enter two numbis

L 53
E

sum = 8

/
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y=x -
Ex

+
x

-

3
find-y
cube

squar
#include <stdio

. 1)

int find-y Cist, into into int jinit ;
int cube (int) :
int syn List ;

int main (1

&
inta

=
b

+ c
,
dyx sys

& rintf ("Enter ag b
,

c+ Xu")s
scant (God God God God god", Sa,

86
,
8 c

,
8d

,
8x);

y = find-y Lab, <d ,
41;

SPrintf (" y = God" s y)s
return 0

Y
-

&onl

int res

inter
Y
int cube (intx) ;

E
return X * X

*
X ; -> retur ** 39VIN Joe

Y
int find-y (inte ,

int be int 2 ,
int d

, intx) ;
I
return a * cube ( + k*-gi(X) + 1

*
X + dj

Y
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File
New
No
all files

I,

I
y

,

-

* ↑
2
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Selections :

T
relational operation -

< less than

X = 15of -

If Ix("hi") ;
else
print("byen's Mgreater thea

equal
3 ! = not equal.

X = 5 X = 0

if (= 5) if (X= 0) ->bad
Print ( "good/n") · S -

else False-
prints ("bad In"

true,is

If (5002) -> 18 Gods
true

If (X) : true
,is False1s !

intX

printf ("Enter value In");
Scant("god"

,
8Xs

If (x7= 0)

&rintf ("Tod is positive", x);
Elses
Griff (%0 is negative" is

result = X % 2 ; if (X % 2) - if (result)
if (result= = 0) ↓ print ("odd") ;

a rintf (even In") s else
else print ("even);
printf (odd In")s
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int mark

Printf ("enter mark 0-1001")s
scant ("god" 8marksf
if (mark = 90)

comes
- "Printf ("grade = A\u")s
↳ print !"good job An"so

3
else if (mark 7= 80)
print y"grade = B") :

else if (mark > = 70)

printf /"grade= c") ;

else

& prints ("grade = F");
print ("good luck next timei")g

Y
gritf ("goodbye") :

logical operators X Y xi)y X 88y * &

T F T F

! not

F + T F T

88 and
TT TT F

11 or
FF F F T

118088 & !! Ell &s i is

int ang = 85 ;

char gender = 'f' ;
int age = 22.;

if (lang > 80 1) Jage < 30) 88 ! ) gender == 'E))
( T 11 T 88 ! (1)
(T Il T88F)
(T 11F) => T Uploaded By: anonymousSTUDENTS-HUB.com



-1518
if ((laug > 80)11 Jage < 201) 88 ! (Gender))

L T 8)8 ! (T)Tj488 + )
F

if/mark = 90) 88 (mark <= 100)
& arintf( "grade = A") ·

S

criutt ( "good job In") ;
z

if ((mark= 70) 88 (mark < 50)).
&rieff ("grade = c"1 ;

if (Mark == 80) 88 (mark <90))
printf ("grade = B") ;

if (x= 5) :- if

int x = 2 , y= = gz= 10 ;

max = X ;
if(y >max(

max =y ;
if (2 >may

max = z ;

grintf ("max = God" , max) s

char letter; :Asg

print ("Enter letter in"l ; letter--l) I'll'lli
Secent)" Yoc" ,

sletters · 11w
if Kletter truea

letter== Il letter=
ij$

&s

-
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Boolean functions: Itrie or false
# include < stalio

.h)
int is Even (int)
int main 1)
&
int num ,

result;
Y

printf (enter numberin");
Scant (1%d Snum (s

&
F

result = is Even (num) S

7
if (result==0
-

Print ("%d is not even" mum) ;
else
Printf /"God is even"

- num) s
return o; I

Y
int is Even (intn) &
&

M

&
s

- int remg

J &
if (isEven(num) = = 0)

68
-> rem = n % I ;
- if Crem == of &i if (isEven(num) ,

i
Is return ! (n%2) && returro else

is even

Y not even
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Switch Statement
int X = 1g

if (x = = 1)
-

Printf ("one In");
if else (x = = 2)

Printf ("twoon" :
if else (X = = 3)

Printf ( "Three" In);
else
print ("unknown numberin") :

using switch (10 :)
intX = 1s

switch (VI
E

case I : Print Lone In" 1 :
break ; -> &j break15.
-

-
case I : print ("twoln") ; break ; breaks : X= 1 &

&case : print (threeln") ; break; 2g#default : edintf ("unknown numiu") ; 8. X = 29

Y 2

Char
, int switch

char letter:
if (letter = =

' 11 letter - = 'Il letter----. (
vouel

else
not-vouel
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switch Letter
&

case 'd : print ("roue") ; X
break;

case l : case'v' : case le : case :1 : caseo : Print (oul;
break;

default : printf ("Not a voual") ;
Y

menu

int U1
, Uz;

int result ,
int choice

print ("enter any two numbers In") ;
scanf ("Yedd" ,

8 M
· 8 m2) :

printf ("select one of the following 1-3 : In") ;
P
rrintt (1-Add In 2-subtractIn 30 Multiplym") ;
scant ("God":choices
Switch (Choic)
E

casel : result = u1 + u2 ; break ;
casiz: = m 1

- uz = < ;

Printchacein") ;
*print (result = %od"

-
results

Enter .....
56

select. ----

I- Add

2- subtract
= -Multiply
2
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Nested If : X=541&8
y=z

5 , y = 2
-

Z = Yg good
Oye

If (x y g) -

f (y = = 2) y= 2 - X= 16

⑨ Printf ("good In"1 , bye
else&

&Sprint /"bad") ; x= 5 y=35
else- backgoPrint ("bye'l ;

bye
·84%

else :N
&

& Printf)"bad") ;
printf (abye"] ·

Y
X =5

y= 2 Y y= 3x=2x= 1 Xgood ·othing byt

185 Gay in%0,0

if (x > Y -Igi s

&Cit (y= = 2)

h Y
printf ( "GoodIn"),

gas else

S

y= 5X

= y= *
bod

**

byel
= 3

byl byy Uploaded By: anonymousSTUDENTS-HUB.com



-vis
lif (x > Y

9 printf ( "GoodIn"),

·&
if (= = 2)

Y
else

&

65 printf)"bad") ;& printf (abye"] ·y
x = 5 y = 2 X= 1 y = 2 X = 5 y=3

good bad -

byt

Loops :

while ->ag's
for
do (while

initial value

X= 5
-

While (x= 10) -> final value (condition)
&
& riuff /"%d In" gx)s

x + + j//X = x+ 1s
-change y

X++; post increment
+ + Xs are increment
X-- ; post decrement
-

- Xj
· re decrement
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X= 5;

printf(" %d In"
>
11 : 5 5

X + + 5 X ++ + + X 2 ,
&- 55)

print (1%d In" ,
x : 6 6 S

X= 5 - y = 2 XS- !

printf() %d In"
>
X1 : 5 5

y= X+ + X + + + + X

6 6printc 5 6 85
-

4%

Niss

Xrint( "God's x+ - 2

+ + x)i - 3

essne
-

X = 2s M

if (+ + x > 2) -> -+ X++

E

X
= x+ 5 -> x+ = 5

X = X - 3 -> X- = 3

x = X/y -> X1= y
X = X% 2 -> X 00= 2

&

y = 1+2+ 3 +y .... + 20

y =
0,

=)
9

While (i < = 20)

(y + = ij//y = y + 2;

i + + g

Y
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XY 2- 16

· -> y= 4 res = 2 *2***z
2

res = 1 g

(i = y
&
res# X ;
i + +

j

Y

n=20 sun of devises :

3

sum = 1 + 2 + n + 5+ 10+ 20

sum =o

While (ic = u)

↓
it (ngi = =0

-

sam-sum+ ij
i++

Y
For ! ① ②-

for (initial value ; conditions counter (
& ③-t1)Statment
"Statment2

Y
Ex: for (inti = 0 ; i < 5 ; it + )
:

O&print ("oddh" ,
i) : 1

-

Y 2

3

Y
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-:
5 &. 9-55-00

inti forit = 1 , iClo -
i + + 1

& So

F
print- ( "Yoo"

, i) ;
Y

1 2 3456789

program to print even number between 0-100

for (inti = 0
;

i <= 100 ; i = i + 1)
E
print ("God" ; i) ;

Y

the sum of the first 10 numbers
int cam =o ;

for (inti = 1ji < = 10 ; i + +)
&

sum = seem + i ;
Y

printf ("the sum is God"
, sum);

the sum is 55

-------
; if 19

for si for 10for

ps
intig I ,

rows ;
printf(" enter number of rows") ;
Scant ( "God" 8 rows)'s
for (i = 1 ; i Crows ; i + + ]
& for (j = 1 ; jc= ijj + + )

& printf (" * "Is

Y Y Uploaded By: anonymousSTUDENTS-HUB.com



Do While :

statment;
do
E
4 statment;

Y
While (condition) ;

# : int i= 0 ;

in
i=05

While (i= = 1)

&
print ("hill) ; S &

grinff )"hilll ;
i ++ i + + s

Y Y
* While (i = = 1);

Es hi 8.

Ex : is Eis
inf num

, sum = o ;
do &
printf (" enter integer or o to stoa) ;

Scant)" %&" ; 8 num) ;

if (um] Of
sum + = num ;

Y
While (num : = 0) >
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s. G i
-
&

for (i = 1 : i < 5 ; i ++)
& rinff (" %d"g ils

for (i = 1
, 0 = 5 ; (i < 4/88(572)) ; i + +

, j - -)
- ↓ T

printf("i = %d i :%d"si ,
j) ;

1m = 136U ;
count = OS

While(num2 of
&

count ++;
hum= num/10 ; => num=odjs8

Y -g is
&vint ("count =Yod"

,
count) ;

⑪

1m = 136U ;
count = OS do while
do & Gillonj S.

count + + j
num = num /10 ;

&
While (arm> o) :

·
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int X = 1s

While (xs= 7)

&
9vintf("X = %d In "gX)s
if (x = =5) S 451'g jas 8.

4
break ; = 100p&% g& 50

printf ("X = %&In "sX) :

X + + g

Y
print ("bye") ;
returno

Y
int X = 1g

While (xs= 7)

& - bot

9 vin+f ("X = %d In "gx + +j - 1
I

if (X = = 6) 3818. J
break ; => 100p&

printf ("X = %d In "s + + x) - 3 A

/Xf + j 3

Y 3

print ("bye") ; 5

return O ; 5

Y
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int X = 1s

While (xs= 7)

&
printf("X- %d In "ex) ; &if (x = = 6)

continue;So b%1&S.

&
printf ("X = %&In "sX) : Is o

X + + g

Y
print ("bye") ;
return o j

Y
infinite loop x sir ifire

int X = 1s

While (xs= 7)

& o
9 vin+f("X = %d In "gX + + )j
if (x = = 6) 2

continues

printf ("X = %&In "sX) :

Y
5

print ("bye") ; 6

Y
return Og %-
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Ex'
int isEven (intul - 15
E *

S

if (n % 2 = = 0) H
I

return 1 ;

else
return on

Y

Nested loop :

program that finds if a given number his primer not

(-103345)
int mum;

printf("Enter any numberin") ;
scant ("God" Smum);
int i = 2 ;

flage, int crime = 1 ; -> prime o

While (i < num)
true

->

if Lurm %i = = 0 )

&
if (num goi = = 0) else

print("Not primeln)s

& ↑ printf ("Trime") ;
prime = 0 ; i + + j

break ; * ss es sili&
&

Y arimeis, primes
i + + g

Y
if (prime

& riuff ( "god is prime" sum) ;
else

& rintt !"God is not prime", nem) -

return o ;
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10001 1 prime5
int num's is prime ;

for (num = 1 ; num 2= 1000 : num +1(
&

i = 2 ;

prime = I ;
While (i < num)

&
if (num goi = = 0)
I

prime = 0 ;

break ;

Y
i + + g

Y
if (prime

& riuff ( "god is prime" sum) ;

Y
return o ;

int main -n.

S

&
int is prime (int) ;
int num

& rintf(1)Enter any numberin") ;
scant (1%d "s & num) ;

if (isgrime (nums)
·vint (god is primelu"shem)s'

else

print (%d is not crime In"snaml ;
return o;

Y

Uploaded By: anonymousSTUDENTS-HUB.com



int is prime (intu)

E
int i = 2 ;

While (i < n)
& if (n% i = = 0)

returno ; ri+ + j

ratern is
Y

100 1 1 0 prime Is
:G g

int num ;

for (num = 1 ; num= 100 ; num + + (
if (is crimes

Nested loops :

one Dimension
#***
for (i = 1 ; i < =hi ++)

printf &"") :
col

* **

raws ***

*
3eg

fr

sofor (i , ins it ][for(j) ; z+
3 88 Printf (** ) :

print ("In's - I3x3 = Cy-
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i = 1g

While (; < =n)

E
j = 1
While (j <= n)

&
gi ++

yi + + ,

for (i = 1
,

i < = n ; i + + ) x&for (j) , i< i : j++

printf ("** ) , XXX
Printf ("In") ;

y
-

&

for (i = 1
,

i < = n ; i + + ) * * A

&for (jzi ; j< nsj+ +/ *A

printf ("** ) , N

Printf ("In") ;

y

for /i = 1
,
i n gi + +

E
for (5 = 1 : in ; j ++ 1

print (" " ;
for (k = 1 ; k < i

+ k++)

P
riuff (" * ") ;

print ("In") ;
g

Uploaded By: anonymousSTUDENTS-HUB.com



for /i = 1
,
i n gi + + I

E 22
for (5 = 1 : in ; j ++ 1

333
print (" " ;

for (k = 1 ; k < i
+ k++)

P
rintf (1%d"

, i) ;
print ("In") ;

g

for /i = 1
,
i n gi + +

E I

for (5 = 1 : in ; j ++ 1 12

print (" " ; L 23

for (k = 1 ; k < i
+ k++)

P
rintf ("%d!4) ;

print ("In") ;
g

for /i = 1
,
i n gi + +

E

for(to I I" ;
for C k = 1jks= (2x - 1 + k++)

P
riuff (" * ") ;

print ("In") ;
g

Pointers : dynamic address
x = 5 -y y
* 5 &

zo
static address = 1000 co, ps id
go

print ("X= Yod"&x) :
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zi
int* y= 8 X ;

100058

int 2 = 2

y = 82 :

a X
Y ax

X 5 y 7 2405

108 200 200

int * a = 8 :
GiPrintf ("God",al : z 200

a = 82 ;

printe (" %od" : *at indirection(-

*
a = Xi

5. a
int
:
aSprint (" %dIn") , 215 -> 5 = z vid

int a = 3 ,
b = 5

,
c = d ; a

int * x = 8b
,

*

y ;
W

printf ("X = %&(n"s x)sy
y =X x = 2000

* y
= 12 ; b = 12

printf)"b = % d In "s b) ; 15

y
= Sa ;

C= a+ bj
printf(dir ,
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#include < stdio
.
n >

int op (int ,
int ,
into

, inte);
int main1

C
int + = 3

, Y= 2 g
int sur

I
diff , prod;

sum = op (1 , 4 : 8 diff, 8 prod) ;
[

printf(sum = YodTit=
s prod : Yod" , sum

, differed,
return of

Y

int ops (inta , intb ,
int *& , int* p)

E
*d = a- bj
# p = &* b ;
return a + q ; int d = 8diff

Y

main

·itsespe
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#include < stdio
.
n >

voich op (int ,
int ,
into

, inte);
int main1

&
intx = 3

,Y rodsint sur
9

ops (1 - 4 : 8dif, 8ad , 8 sum) ; I-

[

printf(sum = Yod
,
diff= %Gods prod : God , sum

,
diff, God,

return 05

Y

void ops (inta , into ,
int *& , int* p ,

int * S/
E

*d = a- bj
# p = &* b ;
* s = a+ bj

Y input parameter, callbyreferenaa
-main ↑ ops ↑ output

* sames dif= 1 good: 6

prod C b

#
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#include < stdio
.
n >

int ops (intx ,
int*, intx):

int main1

C
int + = 3

, Y= 2 g
&int grods

op 18x , by ,
8 grod) ;

printf("sum = Yod
,
diff=%ds God = Yod" , XsY , Grad);

return 05

Y

void ops (intas ,
int* d > int *)

E
int +mp1 = *s > tmp2 =*&;
as= tmp1 + tmp 2 ;
*d = +mpl- +ma2 ;

* p = tmp1 * tmp 2 :

I

main ops output

& ↑ sam= 5 diff= l prod = 6

Fi
Emer
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"Start ("god"8/) ; go
scant (

>>
int *a) -> scanf) - Void * a)
& &

int> 8
.

3 -

·mainscanf
-function

as

# include (stelio
. h>

void swap (int , int) ; X =5-y= 6

int main() int temp ;

& temp = X;
int X= 5

> y= 6g X =

yj
swap (X . y) ; y temp;

&rintf("X= ad y
=%od"

,
X

, g) s
return of

Y

void swap (int as int b)

Fint +ma ,

tra ; n minsa = b ;
b

6 = tmes

Y Time
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# include (stdio
. h

Void Swap (int , int) ;

int main()

&
int X= 5

> y= 6g

Swap (8X ,sy) s
&rintf("X= ad y

=%od"
,

X
, g) s

return of

Y

void swap (inta , inteb)

Fint +ma ,
main surcet

*a =
*b ; I 6 ES

I

tupC !

is*6 = tmes temp

Y

Global variables

local variables scope rule

int main (1 int fun (inty(
&&

in z inbe

# include <stelio.n) int funlinty(
int n = 2 ;
int main (1

&
int a = 7

,
be e :

& n + + j
inta = 3 ; Printf ( .... su)- 3

int u = 10 ; G
Y print(

. -.. (n) -> 10
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# include (stdio
.
h>

& 02
in+ x = =j
int one (int ,

int)s
void two (inta ,

intsint) ;

int main 2)

&int a
= 3 ,

b = 5
, 1s

2= One (5b ,
x1:

& rinft ("od yad godin" X >&Cs
two (82 C , 8 als

print ("Yed yed Yod" , Xa , 2) :
returno ;

z

int one (int* a , int b)
E

in+ X = bj
* a = X :

return x +* d ;

Y

void two (int*a
,

int b
, int *C

E
* d=

*C + X ;
b =

*
a + 35

& rintf ("%od God %odIn" ,

*
a ,

X
,

*/);
X + +q

Y
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global main one two output
7714

⑮n10 X

⑮
Q : Write a program that sends the length andwidth of

a rectangle to a function called vals and return both ,
the

area and circumference of the rectangle
# include [stdio . U]

int vals (ints int, int * ) ;

int main)

E
int length , width , area

,
circumt;

area = int Vals (length, width , scircum)

printf ("area-yod circum-gd" ,
area

, circum;

return :

Y
int vals (int Lintw ,

int* c)
E

* c = 2 * ) + 2*w
return ( *

w ;

Y
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Arrays
int 8500S$100 -&9

int stuM[100]
39'3

11 ( ... ) ....

stuMGste--------geM

int x [8]
Arrag x

151 1 1 1 1 l
X[0]

x[z) = g-
+ (7)

X[17 = 5

print (1 %d"
, x()); 5

int sum

sum = X(D) + X(7) 14

Array initialization

inty [t) =Eyegy ;
inti = 3

print (1) %d God" , i
,
%Si)) ; -> 83

Printf ("God" , y(is + 1) > >
84

1) L "Yopl
· y[i + 1]) ; -> 89

Y 1
"

%d"s @ [i + + ])s -> 83

y
(i +3 = g(i) 3 = is

79 8.

%
.
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int 20 =C3
,
5 ,

4
,

7
, 50

,
67:

printflaxd , S[]) ; -> 50

->

int square [II) , i;

for (i=0;< ; i ++

E
square [i) = i * is

↑
vinta (11Godli , square (i));

0 1 49 16 25... - 100

&! j,S
int i , sum-o , air[10] ;
printof enter numbers) ;

for (i = 0: 140 ; i + + )

E
scant (God , Sarr (ii)
sum=

int i count =0arr [10]
for1 = 0 ; ico

, itt)

E
caut (d , Sarcil) ;
if arr [i] = = 1)

count+ = 1

y
ariuff ( %d

, count) -
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· out is a [57;

printe (1) enter 5 members) ;

for (i = 0; i < 5; i +H
&
print(elemented) ; it :
Scanf ( %d

> 8 a[i];
Y

printf (the values reverse);
for (i = 4 ; i) = 0 ; i -+

E printf(God , i) s

Y

int max(int arr []
,
intu) ;

↑at main

N
int a [5] ;
Priuff("enter 5 numbers") ·
for (i= 0 + i < 5

,
i ++ ]

&

Print (demen%di)
scant ( %d

,8 alil)
&
print (the may num God" may (ast)·

Y ↓
12

int max (intfirE M
int max, inti ;
for (i =0 ; i < n

- i + +)
&
if (max <arr(i))

max = arrsi];
y

return max ; 11 79 1210
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Finding array size

sizeof)/ -> arrays95
,

%

int mcin(/ int -byte
&
intnumbers [5] = 20 ,

20 , 30+
40

,
50%;

int size = size of (numbers 15
print ( % d

, sinze) -> 20 & 5x4)

515- sizeof (x) /sizeof (x2)

string3 "All"
98882

Declaring string alrogs
int mains

& 012345

char car [6] = "Tesla's Ella
printf (% s"

, crtsg -
S non char

-

1( :Fii-

oneciminsion
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Two Dimensional array

array
int main ()

&
int air [2][3) = 210 ,

20 , 30
,

00
,
50

, coy

·:

int air [2] [3) = &10, 20
, 30,

40
, 50

,
Go%

&

printf (CD Array) ;
· & for In+ i = 0 ; i < 2

,
i + + )

E
· oie for (intj = 0

, jc3 ; j+ +/
E

print (%d , array [i] [i]·
y

&
rinf [ul);

Y ↓j
is

10 20I I40 5033
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⑳
60
of 91 p2p Q2

X Y Z

--

num (in 3000,g)

# include citdio
.h] =is

# define ③ 5

↳int main 21 content s 5
:

8

E Ex6403i,sey

·jei43

int grades [s];51
inti

,
sum = o

,
min;

"

float ang;
print ("enter five grades) ;

-

for (1 = 0 ; ics
,

i + + 1
scant 1" %'d"

,
8 grade(i));

for Lizo
,

i < s
,

i++ 1

sum += grades [i]
arg= (float) sum/s a

min-grades [0] ;
forLi = 0 si < s

,
i + +)

if (grades (i] <min)
min = grades [i] ;

printf ("ang = 000. 2f min =%d"
, andmin) ;

return o ;

Y
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# include citdio
.
h> =is

# define 35

int min (int[] , int) ;
i -

int main 21

E
&

int grades [s] ;
inti

,
my ,

float ang;
print ("enter five grades) ;

-

for (1 = 0 ; ics
,

i + + 1
scant 1" %'d"

,
8 grade(i));

Ma = min (grades ss) -9)
- > &

&3
- & grades [0)viny Sgrades (2)

printf ("min =%od"
, mul ; 052

.

5
return o;

y ·
↳

intminling inta
·- sen jj is!-E - -n

+e=isint m
= g [0) , i

S

Syboi,50 -5-572

for (i = 0 ; i < n
,

i ++ )o fu J
, arraysjI

if (g[i] <m/

m = g [is;
911= 7;
/1 array

return m ;

Y
main min

Xogrades
a

111 I I0123-
grades=8grades (o)
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ide /10) 11
0 - 23 ub567

arrafs +==s
search I

9, %16 119.Ei
&

&

#includestain : h>

#define S5

int linsich (int[] sint , int) ; 201 7/17/100/5
int main I 01234

E
int ids [s] = &20 ,

3
> 17 , 100

, 5%,
int keys pos ;

printf ("Enter key (ul) s
scant 1" %d

,
8 key) s

pos = linsch Lids ,
S > key) ·

if (00s = %
print ("Key God is at position God", key , pos) ;

else
print ("key God : no such kayin" , key)s

returnos

Y - worst
case· =ms,=(1

int linsch (intx
,
intu

,
intk) logiss

1arrays Binary,a&It i, a;
gisi . 155

.

4

for (i = 0 ; i < n ; i + + )
if (k = = X[i]) main linsich output
return is ↑ Enter Key

k 100return-1, ·
O key 100 is at

Y To 3 j
position 3

key pos

Enter key
15

key 15 No such keyUploaded By: anonymousSTUDENTS-HUB.com



Bubble Sort
3

ValsTo
01237

3
u 10 20

3(yy/3/50

3/3/4/20/50
-Y-3U

14 117151110
A

7) /(1) 10

26 5()/7/10
> 61/15/7110
4( o(s) = (7)

1 -- 1 ,5 =- ,

1 - 4
-> colormu -S

1 - 4 & Vows Y

for (i = 0 ; i < n+; i+ + )

for
-

&
tmp = A [J] ;
A[i] = A [j+ +] ;
A[i+ 1) = tmp's
I
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# include (stdio .1)

# define 5

void sort (int[]
,
int) ;

int main 11

E
int B [s] = &20 ,

2
,
7

,
15, loy

int i ;

Sort (B , S] ;
for (i = 0 ; i < S ; i ++

Printf ( "God"
, BLi]) ;

return o ;

Y

Void sort (int A C) > infu)

&
for (i = 0 ; i < n -1 ; i + + 1

for (i = 0 = j<n+, i + + )

if (A[c] > A[o + 1)
&
tmp = A [J] ;
A[i] = A [j+ +] ;
A[i+ 1) = tmp's
I

Y array= pointer
&main sort &

3

do

f loop gas array >S! 991-561 Sorting ↓
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Two dimensional arrays : & Two for"I
A

O L 2 loops

O I I 2 I 3140 ⑧

A Crows][col] -> A[2][s] = &1 2 , 3 , 4%;

int A [00 = Go% -> 19
· I ot of o lang

O

↑ (2)()=dery257 ,Y
O 120 -"I willI I15 0701 ji

# include <stdio.1)

# define R2

# define 23

int main I
& in+ icic

int A [R] [C] = 321 > 2
,
37 , 2005, 677 ;

int B [R] [s] =

int D [R][C] ·
Print- ("EnterSix values")'s
for (i = 0 ; iCR ; i ++ 1
for (i = 0; / < ( ; i+ +)
scant (%&" ,8 B[i] [i] ) ·
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for (i= 0 ; i < R ; i + +/

for (j = 0
,
jac ,
j + + )

↑ [i] [i] = A[i] [i] + B [i] [i] ;
for (i = 0 ; i < R si + + /

& for (i = 0 ; j < c ; j + + )
printed "Danity-Print ("In") ; y

return O

z
main

A Bo [

1↑!10

out put :

Enter six values
2468 10 12
3 69

12 15 18

*
fu
?% E1,i

void print-Arr (int[][C]inteint) : 0 for 11 %s

for (i= 0 ; i < R ; i + +/

for (j = 0
,
jac ,
j + + )

↑ [i] [i] = A[i] [i] + B [i] [i] ;
print-Air (1 , RgC) ;

print- Arr (BcR , C) <-

print-Arr (D, R , 1) :

grinff ("in + In ") ;

<( "In = In'ls
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void print- Arr (in+ x[][ · intrs into t

E
- sonsell J

int is j ; Capita ↳

for (i= 0; i < wgi++/

& for(j = 0 ;j < c ; j ++ )
Print (1) %+"

, x[i] [i])·

print ("In");
Y

Y
Si,o column in
- 1 -

& &

! 1
,
231 I, a 50

strings :

int
float
char

Char name [10]

name 1111111 Il a) = a

·

1234567891a = al
0-char name [10] : "ai" ;

name allik////11+800isjsi9
0 123456789

null chars
85 I

10 null char [ii] eX
Clar name (J = "anmod 11 ; a(n)m(a(d)

0 12345Uploaded By: anonymousSTUDENTS-HUB.com



dataExt

-jgs 60

FILE * ins go

float any ;
50

40
int count=o grade ,

status s am =
0 ;

in = fopen \"gradesxt""r") j i
status = - scant (in ,

"od"
, sgrade) ;

While (statue ! =E End of File

E
sem += grade ;

count 2+;
status : -scant (in, "God" ,

8 grade) ;
y
any = (float) ne/countj
printf ("any =%of" angl ;

fclose (in)s

return o ;

Char name [10];

print ("Enter yournam") ; sahmeDalbah 3
11 -

scant (" ,net & Jaid En
↓

stringso get, (name); Hi salma
~ address ju

printf ("Hi %os" , name) ; &55
-

char name 60) = "ahmad" ;
count= o ; aln/mbald(10111 I
i = 0-

O

S

While (name [i] !: 'LoY
&
if (name(i] == (a)

count ++

i ++

Y
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# include < stelio . h)

# define( 10

int counta (char[]) ;
int main()
E
char name (10) = "ahmad" ;
int cocent ;
count = counta (name) ;
grintf ("number of as in name = %od", count) ;
return of

Y

int counta (char x (j)
E
inti

,
cut= o ;

i = 0 ;

While (x[i) ! = '10(
if (x(i) = = () (
cut + + j

returncut ;
T

Chao
name [0] (20) & "dil ,"ahmad" -

O

p
a
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i
if (name == "almad") -> 8
name1 = usem -> 8

strame (name ,
"ahmad");

↓

[G = 0 70

=- strcpy (name ,
name)'s

Char name [10][20] = & "Wils"ahmad" --
- 7 ;

for (i = 0 ; i < lo
,

i + + )
&
griutf ("Enter name") ;
scount ("gos"

,
name (i)) ;

Y

Parallel Arrays -
name (Char(/string) ids (int) gender (char) any (dockly)

& u)
O 73 .5

inn!" i S

----

cher name [10] [20] ;

int ids (10) ;

Char gends [0];
double any 110] ;
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